
Practice Final Exam 2

Math 145, Spring 2019

Name:

Student ID:

____________________________

Every solution must contain an explanation written in words supporting your
numerical solution to receive credit.

You do not need to simplify numerical expressions for your final answers (e.g. you can
write 2

. 1! instead of multiplying out to 6144.)

If you need extra space for your solutions, there is alt extra page at tile back of the exam.
If you need extra space for any problem, write CONTINUED IN EXTRA SPACE on the
page where the problem is given to you. In the extra space write the problem number that
you are solving in I hat space.
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Piohlcru 1: Construct the labeled tree that corresponds to the Prfl for code 2-1602337,
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Problem 6: Find the minimal cost spanning tree for the following weighted graph. Draw
the spanning tree and determine its total cost,
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Problem 8: Give the proof for the statement (directly from the definitions) that if T is
a tree (a connected graph with no cycles) then T has a leaf (a vertex of degree 1).
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